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Guidance notes for Sample Paper Mark Schemes
Level 1 and Level 2

Notes:

The mark scheme has been carefully constructed to avoid penalising candidates repeatedly for
similar errors.

1) The principle of follow through applies throughout unless otherwise stated. This allows the
candidates to gain credit for subsequent correct calculation based on a previous incorrect
answer.

2) Units or numbers shown in brackets on the mark scheme are not required for the awarding of
mark/s on the candidate’s paper. However, if a candidate states units they must be correct:

eg 24(cm) means accept 24cm or 24 but not 24m
eg (£)72.5(0) means accept £72.50 or £72.5 or 72.50 or 72.5

3) Correct money format is expected in final answers unless otherwise indicated by brackets ie
pounds must have two decimal places or no decimal places.

eg (£)5.00 or (£)5 not (£)5.0
eg (£)72.50 not (£)72.5
eg (£)37.43 not (£)37.432

4) URT means unrounded, rounded or truncated; the underlining defines the acceptable limit of
approximation:

eg 860. 8652 URT (U is the unrounded version)
the following are acceptable: 860 (T) or 861 (R) 860.8 (T) or 860.9 (R) or 860.86 (T) or 860.87
(R) or 860.865 (R) or 860.8652 (U) but not eg 900.

Update for new tests
Checks: Note that marks are no longer awarded for a repeat of the original calculation.

Candidates are guided to use a different method to check their calculation within the test
paper, eg approximation or reverse calculation.



NB incorrect money format should only be penalised once on the whole paper (one mark
deducted for an answer expressed in incorrect format - does not apply to values that are part

of working)

Maths Level 1: Sample Paper 5: Task 1

Total
Step marks Marks

Marks awarded for

1A 2 2

(flat) 11 AND (£)80 000

flat 4, 9, 10 or 12 for one criterion missed (from floor, bedrooms,
parking, cheapest)

1B 2 2

(E)4 000
follow through 1A

correct method for 5% eg x5 +100 or +20 or x0.05 or equivalent

1C 2

(£)250

+12 (months) seen

1D 2

4 (months)
follow through 1B and 1C

(£)1000 seen
or 16 months for total deposit
or complete correct method with one calculation error

1E 2 2

(Friday) 9t June
accept (Saturday) 10™" June

28™ April seen in working or indicated on calendar as date when
deposit amount is reached

1F 3 1

table with clear structure ie rows, columns, delineation AND
some suitable headings/labels

six headings/labels for price, total deposit, deposit saved, extra
deposit needed, how long to save and move in date or
equivalents

all data entered for their headings in table
note: at least four headings and corresponding data required for
this mark

1G 2 2

no marks
for repeat
calc

a complete correct check of any original calculation seen in 1B,
1C or 1D using a different method

eg areverse calculation OR a calculation using approximate
values

note: original calculation must be seen at 1B or 1C or 1D

a correct check which is not finished

Example tables for 1F

Cost/Time Amount (£)
Price of flat £80,000 Price of flat 80,000
Deposit £4,000 Deposit 4,000
Deposit saved £3,000 Deposit saved 3,000
Amount still to save £1,000 Amount still to save 1,000
Time to save 4 months Time to save 4 months
Date 09/06 Date to move in 9t June

Maths Level 1: Sample Paper 5: Task 2
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Total

Step Marks | Marks awarded for
marks
2A 3 3 all six measurements correct to nearest centimetre
marks ie2,2,3,6,5,2
2 six correct unrounded measurements
or 4 correct measurements to the nearest centimetre
1 one correct measurement to the nearest centimetre
2B 4 3 all six of their measurements scaled correctly to nearest half
marks kilometreeg 1,1,15,3,25,1
2 all six of their measurements scaled correctly and left unrounded or
rounded to whole km
or 4 of their measurements scaled correctly to nearest half
kilometre
1 one of their measurements scaled correctly to nearest half
kilometre
1 total of their distances eg 10(km)
Route marker Measurement Distance
From To (to nearest cm) | (to nearest half km)
1 2 2 1
2 3 2 1
3 4 3 15
4 5 6 3
5 6 5 2.5
6 1 2 1
Total distance of route 10
2C 2 2 clear indication made on dotted line 3cmt¥%cm after route
marks marker 4
follow through 2A and 2B
1 clear indication made on dotted line between route markers 4 and
5
2D 3 3 1 hour 40 minutes
marks follow through 2A and 2B
accept calculation based on correct unrounded distances for
marnkc; for route
1.4 hours eg 1 hour 45 minutes for 10.5km
or 40 2 1.66 or 1.67 hours or equivalent seen
or 100 minutes seen
or 10 minutes per km or equivalent
1 60 (minutes) + 6 seen
or their distance + 6 seen
2E 1 1 11:30 + their fastest time eg 13:10 or 1:10pm
mark follow through 2A and 2B
2F 2 2 a complete correct check of one of the lines in 2A or 2B with
marks reference to the scale, measured distance (cm) and actual
distance (km)
eg scale is 1:50 000 and stage 4to 5is 6cm, 6 x 50 000 (cm) =
3km
OR 6 x 50 000 is 3km
2cm is 1km so 6(cm) + 2 is 3km
OR6+2=3
1 a partial check

eg for scale 1:50 000
or 6cm = 3km
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Maths Level 1. Sample Paper 5: Task 3

Step Total || Mark Marks awarded for
marks | s
3A 2 2 | (E)40 AND (£)8
marks 1 |(E£)40OR (£)8
or correct substitution eg 80-40
3B 2 2 correct number of pairs for their calculated profit eg 5 (pairs)
marks 1 | value for their designer profit + own brand profit with one calculation
error
3C 4 1 bar chart with bars for 6 costs/prices/profits, vertical axis label
marks AND bar labels or key
if title present, this may be used to clarify frequency axis label
1 continuous linear vertical scale at (implied) zero going to at
least (£)80
2 height of all bars correct £1 small square
ie (£)40 and (£)80 and their profit (£40) for designer and (£)12
and (£)20 and their profit (E8) for own brand
1 height of one bar correct £1 small square
3D 3 3 | 20 (pairs) for mean
marks 2 |240+12
do not or complete correct method for mean with one calculation error
award 1 | 240 seen
any or +12 seen
marks
for
median
3E 2 2 16 for range
marks 1 |28 and 12 seen as min and max eg 28 — 12 accept 12 — 28
do not
award
any
marks
for
median
3F 2 1 |valid comment comparing means
marks eg ‘(On average) the shop sold (a lot) more own brand jeans
(per month).’
1 | valid comment comparing ranges

eg ‘The numbers of jeans sold varied more for the own brand
jeans.’
follow through their mean or range in Q3

Example chart for 3C
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Buying and selling jeans
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